

PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

February 28, 2019

VIA E-MAIL – 6 pages PIAC File # 6732-06

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge St. Toronto, ON

Dear Ms. Walli:

Re:

EB-2018-0016 Alectra Utilities Corporation

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

Please find enclosed the cost claim of VECC with respect to the above-noted proceeding.

We have also directed copies to the Applicant as well as their Counsel via email.

Yours truly,

(Original Signed By)

John Lawford Counsel for VECC

Cc:

Alectra - Indy Butany-DeSouza - regulatoryaffairs@alectautilities.com

Counsel - Charles Keizer - ckeizer@torys.com

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

- Required data in	put is indicated by	vellow-shad	ed fields. For	rmulas are em	bedded in	the form to assist v	with calculations.
						y of initial currency	
<u> </u>			Rate:			Country:	
Disbursements Be	ing Claimed") is re e "Summary of Fee	quired for ea es and Disbur	ch lawyer, ar sements" cov	nalyst/consulta vering the who	ant and art ble of the p	ticling student/para party's cost claim sh	
- A CV for each co	nsultant/analyst m	ust be attach	ned unless pr	ovided to the	Board as p	rescribed on the Co	ost Award Tariff.
Except	as provided in sec	tion 7.03 of t	he Practice D	Direction on Co	ost Award	s, itemized receipt	s must be provided.
File # EB- 201	8-0016			Process: A	lectra 20	19 Rates	
Party: VEC	cc			Affia	nt's Name	e: Donna Brady	
HST Number:	13059 2405 R	Γ0001			HS	T Rate Ontario:	3.94%
	Full R	egistrant			Quali	fying Non-Profit	
	Unr	egistered				Tax Exempt	
		Other					
l,	Donr	na Brady		Affidavit	//Town o	of .	Ottawa
in the Province			ntario	, or the city	// TOWIT C	, swear or aff	
		-	2000 2000 1000	ex or st	0 499		
2. I have examined Being Claimed", "S 3. The attached "S	d all of the docum Statement(s) of Fe Summary of Fees a	entation in su es Being Clain and Disburser	upport of this med" and "St ments Being (cost claim, in atement(s) of Claimed", "Stat	cluding the Disbursem tement(s)	e attached "Summa nents Being Claimed of Fees Being Claim	ed" and "Statement(s) of
				d time spent d	irectly for	the purposes of the	Party's participation in the
Ontario Energy Bo 4. This cost claim				r time spent, b	v a person	that is an employe	ee or officer of the Party as
described in section						1.50	8.
	/			/			
Signature of A	ffiant						
Sworn or affire	med before me	at the City	//Town of		(Ottawa	
in the Province	e/State of		Ontario	,	on	FCB. 7	28-2017.
						(date	
Commissioner	for taking Affi	davits		-			

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

File # EB- 2018-0016		Process:	Alectra 2019 Rates
Party: VECC			
Sumi	mary of Fee	es and Disburse	ements Being Claimed
Legal/consultant/other fees	\$	18,397.50	
Disbursements	\$	5	
HST	\$	724.86	
Total Cost Claim	\$	19,122.36	
		Payment Inforn	nation
		Payment Inform	
Make cheque payable			
Make cheque payable Send payment to this addre	to: Public	Interest Advo	cacy Centre
	to: Public	Interest Advo	cacy Centre

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2018-0016		Process: Alectra 2019 Rates					
Party:	VECC		Service Prov	vider Name: Mark Garner				
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Practising/Years Experie	of Relevant			
	Legal Counsel Articling Student/Paralegal			31				
	Consultant Analyst			Hourly Rate:	\$330			
	For Consultant/Analyst:		ched ided within previous :	HST Rate Charged (enter %):	3.9%			

S	tatement o	f Fe	es Being	Clai	imed	aulty.	1-11/1-1	
	Hours	Но	urly Rate		Subtotal		HST	Total
Pre-hearing Conference								
Preparation		\$	330.00	\$	78	\$		\$ 8
Attendance		\$	330.00	\$		\$	-	\$ 2
Technical Conference								
Preparation		\$	330.00	\$	82	\$	543	\$
Attendance		\$	330.00	\$	-	\$	-	\$
Interrogatories								
Preparation	8.5	\$	330.00	\$	2,805.00	\$	110.52	\$ 2,915.52
Responses	10.25 10.3	\$	330.00	\$	3,382.50	\$	133.27	\$ 3,515.77
Issues Conference								
Preparation	1.0	\$	330.00	\$	330.00	\$	13.00	\$ 343.00
Attendance		\$	330.00	\$	-	\$	-	\$ 6
ADR - Settlement Conference								
Preparation		\$	330.00	\$	-	\$	- 1	\$ 34 0
Attendance	10.0	\$	330.00	\$	3,300.00	\$	130.02	\$ 3,430.02
Proposal Preparation		\$	330.00	\$	-	\$	5 + 0	\$
Argument								
Preparation	10.0	\$	330.00	\$	3,300.00	\$	130.02	\$ 3,430.02
Oral Hearing								
Preparation	6.5	\$	330.00	\$	2,145.00	\$	84.51	\$ 2,229.51
Attendance		_	330.00	\$	2,145.00	\$	84.51	\$ 2,229.51
Other Conferences								
Preparation		\$	330.00	\$	ā	\$	17	\$ -
Attendance		\$	330.00	\$	<u> </u>	\$	12	\$ (25)
Case Management		\$	170.00	\$	-	\$	-	\$ -
TOTAL SERVICE PROVIDER FEES				\$	17,407.50	\$	685.86	\$ 18,093.36

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2018-0016		Process: Alectra 2019 Rates					
Party:	VECC		Service Pro	ovider Name: Bill Harper	ill Harper			
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Practising/Years Experier	of Relevant			
	Legal Counsel			39				
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330			
	For Consultant/Analyst:	CV attac	hed ded within previous	HST Rate Charged (enter %):	3.9%			

St	atement o	f Fe	es Being	Clair	med		no mos	
	Hours		urly Rate		ubtotal	HST		Total
Pre-hearing Conference								
Preparation		\$	330.00	\$	(=)	\$ -	\$	-
Attendance		\$	330.00	\$		\$ -	\$	12
Technical Conference								
Preparation		\$	330.00	\$	148	\$ 27	\$	
Attendance		\$	330.00	\$	-	\$ 	\$	87
Interrogatories							(
Preparation	3.0	\$	330.00	\$	990.00	\$ 39.01	\$	1,029.01
Responses		\$	330.00	\$	75.	\$ - 83	\$	3#
Issues Conference								
Preparation		\$	330.00	\$) <u>#</u> 3	\$ (#8)	\$	
Attendance		\$	330.00	\$	-	\$ -	\$	- *
ADR - Settlement Conference								
Preparation		\$	330.00	\$	-	\$ -	\$	2
Attendance		\$	330.00	\$	12	\$ 20	\$	-
Proposal Preparation		\$	330.00	\$	(<u>*</u>)	\$ -	\$	#_
Argument								
Preparation		\$	330.00	\$: - :	\$ 	\$	2
Oral Hearing								
Preparation		\$	330.00	\$	\$ **	\$ (2)	\$	-
Attendance		\$	330.00	\$	-	\$ 1901	\$	-
Other Conferences								
Preparation		\$	330.00	\$	· · ·	\$ 1=1	\$	4
Attendance		\$	330.00	\$	5	\$ -	\$	¥
Case Management		\$	170.00	\$	12	\$ -	\$	
TOTAL SERVICE PROVIDER FEES				\$	990.00	\$ 39.01	\$	1,029.01

Econalysis Consulting Services Inc.

34 King St East Suite 600 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #
2/26/2019	2019012

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.
Net 30	EB-2018-0016

			Net 30	,	EB-2018-0016				
		Project	·	•					
Alectra 2019 Rates									
Serviced	Item	Description	Hours	Rate	Amount				
3/24/2018 3/26/2018	Interrogatories Preparation Interrogatories Preparation	BH MG: Interrogatory evidence review.	3 8.5	330.00 330.00					
10/15/2018 10/16/2018	Interrogatories Responses ADR Attendance	Review interrogatory response ADR attendance 9:30-4:30	10.25 6	330.00 330.00	3,382.50 1,980.00				
0/17/2018	ADR Attendance	Settlement Conference attendance 12:00pm-4:30	4	330.00	1,320.00				
10/31/2018	Issues Conference Preparation	Prepare submissions on issues for hearing	1	330.00	330.00				
2/4/2018	Oral Hearing Preparation	Prepare cross-examinaiton for hearing - PIAC/VECC instructions	6.5	330.00	2,145.00				
2/5/2018	Oral Hearing Attendance	Hearing Day 1 attendance 9:30-2:15 and email comments on tentative agreement	5	330.00	1,650.00				
2/6/2018	Oral Hearing Attendance	Attend Hearing day 2 9:30 - 10:30 - post discussion on tentative agreement	1.5	330.00	495.00				
2/14/2018	Argument Preparation	Argument drafting - PIAC-VECC instructions	2.5	330.00	825.00				
2/17/2018	Argument Preparation	Argument finalization Subtotal	7.5	330.00	2,475.00 18,397.50				
		HST on Sales		13.00%	2,391.68				
			HST #1016	0 6028	\$2,391.68				
			Total		\$20,789.18				